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vOoTMOOOOODOOODODOOoovio 7+MOOO0O0000000000

?fxa = vaa
o000
oooo
(Vx(fa)(Y, Z)
= Vx(fa(Y,2)) = fa(VxY, Z) = fa(Y,VxZ)
(X a(Y,Z) + fVx(aY, Z)) = fa(VxY, Z) = fa(Y,VxZ)
= (Xfa(Y,Z)+ (Vxa)(Y,Z)
000

Vx(fa) = (Xf)a+ fVxa
0000vOo LX(TM,T*M)0000000000

00 3.2.3 (CodazziDOO0O) MOOOOOOO X,Y,ZOOOOOR(X,Y)ZO0OO
00
(R(X,Y)Z)" = (Vxh)(Y, Z) = (Vyh)(X, Z)

gbooon
oo 0O0O3210000000040

R(X, Y)Z = R(X,Y)Z - Ay X + Anx,2)Y
+h(X,VyZ) = WY, VxZ) - W[X,Y], Z)

gog

(RX,Y)Z)" = WX, VyZ)—h(Y,VxZ) - h(X,Y],2)
+Vx(h(Y, 2)) = Vy(M(X, Z))

= WX,VyZ)—h(Y,VxZ)— h(

+Vx(h(Y, Z)) = Vi (h(X, Z))

= (Vxh)(Y,Z) - (Vyh)(X, Z).

VXY, Z) + h(VyX, Z)

oo 3.2.4 (RiCCiDDDD) MOODODOOOO X, yoooooooegnooooo

gboogo
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OO0 WeingartenO OO 0O OO

R(X,Y)E,n)
VXVy£ VYng V[XY]& 77>

(R
(
(Vx(- A£Y+Vyf) Vy (—AeX + V€)= (—AX, Y] + Vixy1€): 1)
= (WX, =AY) + VxVyé — h(Y, —AcX) — Vy Vi€ — VLX,Y]5 n)
= (RH(X, Y)f n) — (WX, AY),m) + (Y, A X)), n)
= (RH(X,Y)E,n) — (A, X, AY) + (A)Y, A X)
= (RYX,Y)E ) — (AeA,XY) + (Y, A A X)
= (RHX,Y)En) — ([Ae, 4,]X,Y).
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00 3.25 MOOO KOOODOODOODOOOORiemann 00000 MO Gauss, Codazzi,
RicciODOODOOOODODOODOOMOODODOOD X,Y,Zz,WwWDoDOOooooaé¢,nO

gooo

K, Z)(X, W) = (X, Z)(Y,W))
= (R(X,Y)Z, W) + (WX, Z), h(Y,W)) — (h(X, W), h(Y, Z)),
(Vxh)(Y, Z) = (Vyh)(X, Z),
(RH(X,Y)Em) = ([Ae, 4] X,Y).

OO0 MOODDDDDROOMOOOOOOS,7,000000
R(S,T)U = K((T,U)S — (S,U)T)
0000000000 321(Gauss0O00D0)00O0

= (R(X,Y)Z, W)+ (h(X,Z),h(Y,W)) — (h(X,W),h(Y, Z))

000000 3.23(Codazzi0D000)000O

(Vxh)(Y.Z) = (Vyh)(X,Z) = (R(X,Y)Z)"

0000
(Vxh)(Y, Z) = (Vyh)(X, Z)
000000 324(Ricci0000)000

(RHX,Y)E 1) — {[Ae, A X.Y) = (R(X,Y)¢,n)
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0000
(RYX.Y)Em) = ([Ae, A)]X,Y)

gooo

3.3 Uooog

00 3.3.1 Riemann OO OO0 C*000 fO0000O(0,2)000000 V2f0O0O0O
gooo

OO0 00000 X, Yyoooo

(V2AH(X;Y) = (Vy(VH)X) =Y (VX)) = (V)(VyX)
Y(df(X)) —df(VyX) =Y(X[f) = (VyX)f
= Y(Xf)—(VxY + [V X]))f = X(Yf) = (VxY)f
= (V*N)(YV; X).
00 3.3.2 V2f0 C*000 f0 Hessian 0 000

00 3.3.3 Riemann OO OO0 C*000 fOD0O0O0Af=—tx(V2/)OOOO AD
OOO0O0OAD Laplacian OO 0O0OAf=000000 fO0000OO00ODOO

00 334 MORNOO RiemanmO0OO0DOO00D00D0000O02: M —-RNOOOO
mMoooooooOooooooooooobobobo RO HOOODODODO

oooogbooboMOobOobobobobuobuoooooobobde0bobOonbog
goobodgd

00 MOOOOOOOOAOOOORNO Levi-CivitaOODO VOOODODOO 3.3.1
obobobooboobooboMObDOODLOO0 X, yYyoooo

(V22)(V,X) = YXor— (VyX)z =YX —VyX
= VyX —VyX = (Y, X)

O0000020 Hessian V22O MOODOOODODOOOOOOO
Ar = —tr(V?7) = —tr(h) = —H

O00000x0 Laplacian Ae 0 —HOODOOOOMOOOOOODOOOODOODOOO
O0 H=00000OOO0OO0O0O000000000000D00 Az=00000000
oboMOODOODOOODOOOobOoOobO 20000000 00DLO0ODO0ODO
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00 335 ((00) MORYOO 00 Riemann D0 D0DO00D0000000 z: M —
RVOOODOODDO0O0DDO0OO0 ANIOOODz0 Az =X 000000000MAD00
000000MORNODOOOODOODOO /A/A000 S¥-1(y/n/A) 00000000
D000D00DO0OMORNDOOODOOOOO 000 SY"Y(@)0000D00000000
A=n/a*0000020 Az=Xx00000

00 000000000.000000007,M000000000000000
0e0000 (h(e,e),2)=—100000000000000

(h(e,e),x) = (Vee—V.ee,xz) = (Vee,x) = —(e, V)
= —<€,€$’> = _<6a 6> =—L
O0000o0000oo A NOOOO0OD2z0 Ae =X 000000000000 3.34

ooQd
—H =Ax = )\x

D000 N#00000MDO0D000D00D0:0MO000D00D000DQOO0O0DOMDO
00000000 XO000Oo00(X,z)=00000
X(z,z) = 2(Vxz,z) = 2(X,z) = 0.

000000 (z,z)0000000000000O000O0O0O {(x,z)=r*0000000
goobooogon

=3 (h(ei,ei),x)r = —=x.

—Ax=}¥=<Hﬂ§

€T 1 n
r/r
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00000MA=n/20000A0000000000r=+/2/A000000000 (z,z)
0MOOOOOOR/AD00000000000200000 SV-4(y/2/A)000000
MOO0OO SN-(y/rn/A) 000000000 ¥OOOOOOOOO0OO0OOO0 70000
oooooo s¥(y/a/A0RNODODODOOOODAODOODOODOOOOOMOODO
0000000 A=K+Ah0000000000

H = Z h(es;,e;) = Z h'(ei,e;) + Z he; e;) = H' + Z hiei,e;).

HO 000000000000 SY-4(y/n/\)000000000000H'0 SY1(y/n/))

000000000 3, h(e;,e,) 00000000000 H =0000000000000

MOOOD SN-Y(y/n/\) 0000000000000
O0OOMORNOOODDOOODO eDOO0 SN"Ye)OODDOODOOO0ODOOO

oo
H = Z hie;, e;) = Z (e, e;) + Z h(es, e;) = Z h(es,e;)
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OO0D0DAOz00000000D0O00O0O00DO0DO0O0DOO0

—Ax:H:<&f>f:1 (hles, &), )T = —Lox.

al a ?i a?
|:||:|DD)\:TL/(IQDDDDDAI:)\]?DDDDDD

00 336 (00) 0000000 RiemannOO0 O MOOOODOOOOOODOOODOO
OOooMOODODODOOOOOOOoOOoobOO0oo0OO0

OO0 MOOOOOORemannOOOOOOOAOOOOOOUOOOOOOOUOOO
oo0o0oooooo0oooobooooooooboooooooooooooooobooon
000d0d0o0ooooboo0Db0AO0OoOCOO0OOO0OO0OO NOOOOOOV,OOOOooOooooooo
ogoooo

Va={f € O%(M) | Af = Af}.

MODODOOOOOOOODOOODO GoOO0ODOOGUUOOO0O0ODOD LiedODOOOMOO
00000000000000GOD C*(M)0 L00000000000000G0O0O0
OAODODOOOODOODOOOOOOOO Vv,ooooooowv,ooooboo fi,...,fa
goog

z(p) = (filp),-- .. [n(p)  (peM)

Dooooc*000z:M—-RVNOODODODORNODODO200000000MO0G
0000 (0,2) 00000 ¢00000MO0D0D0DO0DODODODODOOOO
000000000 Le00O0DOO0O00O Schwr0000000000000000 cO0O
000§g=c*g0000000000¢g0 MO RiemannO 0000000002 =4/cO
O0000z: M —-RVNOODODOODODO0DO00D000Az=X 0000000000 3.3.5
000n=dmMODOOOMORNOOODOOOOOO /X000 SV-4(y/n/N)0O
OO0o00o0o0o0o000
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40 OOoU0oddtdd

4.1 LieO OO

00 4.1.1 GO LieDO0OOMOOODOODODOC*O00OO0p:GxM—-MODOOO

ple,x) =z, plgrg2,x) = p(g1,p(g2,2)) (91,92 € G, x € M)

O000000GO MO LieOOOOODOODODODOOOGO MOOOOODOOOOM
0GOO0000000000000 plg,2) = plg)r = gr000000000MDO
RiemannO OO OO0OOO0O0 ge GOOOO

p(g): M — M ; x— p(g)r = p(g, )
00000000000GO MO Lied00OOO0O0000O

00 4.1.2 GO Lie0D000 HO GOO Lie0D0OD0OOOO0OD0OO 7:G — G/H;g+— gH
O0000GUD HOODOOOOOO G/HOOODODODOOoOoOoOoooo

{OcG/H |~ (0O)0 ¢gOoOoOoO }
0G/HOOODDDODOOOODODODODOOO0O00O

G x(G/H)— G/H;(g,zH) — gzH
D000 GO G/HO LeODDOD0DO0O0ODD G/HODDODOOOOODDOO

00 41.3 GO Lie0DO0O HO GOO LieDOOO0OODOOD 412000000000
000000 G/HO GOO0OO0O00000GOD G/HOOOOOODOO Lie0Od0O00O
gboogo

00 414 GOOOO MO Le0OOOO0O0O0O0zeMOOO0O
Gr = {gz|g€G}

Oo000Ge0O 2000 GUOOOOOOG, OD2xOD00D000D000000C00D0D0O0G
O Lied g XODOOO

X(x) = % ) exp(tX)x (x € M)

obobo MMbOOooDoobDoooooo
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00 4.15 GOOOO MO LieDO0OD0O0O0O02zxeMDOUODOO G, 0GOO Lie0OO
0000000 GeOD MODDODOOOOOOOG/G, — Gz gG,— gx0000 G/G,
O GxO00000OD00ODO

00 4.1.6 GOOOO MO Le00O0OO0O00z,ye MO geGOOOO0000 (1)0
03000000

(1) Ggo = 9Grg™ .
(2) GzNGy #0000 Gz=GyO00O0
(3) Tu(Gx) = {X(z) | X € g}.

00 (1) he GOOOO he G, O0OD0O00O0O00O0O0D00O0Rge =g2x000
g thgr =x000 ¢gthg € G, 0000000 h € gG,g ' 0000G,, = gG,g' O
0o

(2) 0000000 giz=goy (g1, € G)0000geGOOOO

9z = g9, g1z = 991 g2y € Gy,
9y = 99592y = 995 ‘g1 € Gz

000000Gr=Gy0O0O0O000
(3) 00 4150000000000 T,(Gx) ={X(z)| X egl000O

00 417 MONO GOOOOOOOC®O00O F:M—NO
F(gr) =gF(z) (9€G, x€ M)

D000000FO0GOOO00000O000 f:M—ROD0D0O00 (g,2) e GxMOO
00 flge) = f(x) 0000000 f0GOO0O0O0O0OO0

00 41.8 GOOO MOOOO Ge00000000 yeMOOO G, CgG,g 00
00 ¢geGOOOOODOOOOO GeO OO0 0000G:000000000020
000000000000000000000002,ye MOOODOOO ¢geGO00O0O
00 G,=¢G,g 0000000000 Ge0 GyOOOOOD0OOOOO0O

ObOob00O Lied0bOOO0O0OODOOODOODOODOODOODO
00 4.1.9 GOOODO MOOODOOD LieDO0OOD0OOOMDOODODODOODOO

00 4.1.10 MO GOOOOOOSO MOOODOOOOODOOOO GeO GOOOODO
O0U0GODO00000000r:U—-Ge0OOOO S=rYz)000000S0 200
gboboooodabod
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00 4.1.11 MO GOO0O0O0OO0SO0000000000000000000 (1)0
0 (5000000

(1) ze SO G, SCSOOO0OOO

(2) gSNS #0000 ge@G, 000000

)
)
3) GS={gs|geG,s€S}0 MOOOODOOOD
(4)ye SOODDO0 G, CcG, 000000

)

(b)) GxO0DOODODOOD G, 00000000000D0O0yeSODO0O0G,=6G,00
OO000b0 GeOOODOODODOOOOODOODOD

OO0 S0O.200000000000000C G0 GOOOODODDOUOGODOOODO
0000r:U—-Ge0ODOO0O S=rYz)0000
(1) geG,, se SOODODODOr0 GOOOOODODOODO

r(gs) =gr(s) =gr==x

O00gserYz)=S00000000G, ScSO00OOO
(2) yegSNSOOOOOy=¢z000 z€ SO0O00000r0GOOOO0OOO0ODOO

gr = gr(z) =r(g2) =r(y) = z.

O000geG, 000000

(3) weUODDODOD r(u) € Gz00000000 geGOOO0 r(u) =ge00000
r=gr(u)=r(¢w) 000 glu=ser(z)=S0000000000 u=gseGS
D0D00UCGSO00000geGOsesSO000gsegr(z)=r"(gz)cUDODO
oGsSscrvoooooooooGgs=vo0o0oGsomMonooooonono

(4 yeSOgeG,0000r0GOOOOOODODOODO

gzr = gr(y) =r(gy) =r(y) = .

0000ge@, 000G, CcG,O0000

(5) ye SO0O0O0O0 (400G, CcG, 00006, 000000000 G,000000
D000G:0000000G,CyG,y'0000geGOO0000000OOODODO
LieD G,0 G,000000000000000000Le0000000000000C
0000000000000000000000000000000000000000
00000G,=G,0000000000000G:00000000000000000
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4.2 0OOO0O0O

OO0 4.21 MO Riemann OO 0O0O0OO¢: M - MOOODODOODOOOOOOOODOO
gbooooogn

¢<Epr(X)) = EXp¢(p)<d¢P<X)) (p € M> X € TPM>
OO0 RiemannOODOOOOOOOOOOO
R — M ; t — Exp,(tX)

0MOOODOOOO0OO0¢00000000 ¢(Exp,(tX))0 MOOOOOOOOOOODO
0000000 ¢(Exp,(0X)) =¢(p) 0000

d d
| om0 = a0, (5

Expp(tX)) = do,(X).

t=0
00000000000000¢(Exp,(tX)) = Expy, (tde,(X)) 00000000 ¢ =1
00 000¢(Exp,(X)) = Expy, (de,(X)) 0000

0 4.2.2 MO RiemannOOO0O0O0O¢:- M - MUOOOOOOOOOOOOOOeOO
gooo

F(¢) ={r e M|o¢(z) =z}
0MODOODOODO0OO0O0O000O

00 peF(p)UOO0D07I,MOD00O00000O00UO Exp,:U—-V CcMUOOOO
00o00oooovo MOOODODOODDODOODDODOODOOOoOOoOovVoOOooDoooDpobOOO
0000000000000000ye F(¢)NVO000Y eU00000y = Exp,(Y)
DDDDDUDtHEpr(tY)DpD yooooooooobobboooooooooo
4.2100 Exp,(de,(Y)) = ¢(Exp,(Y)) = ¢(y) =y OO OOt — Exp,(tdg,(Y)) O pO y
000000000000000000000000000000000de,(Y)=Y 0O
000000 Y eUOde,(Y)=YOOOOOO¢(Exp,(Y)) = Exp,(de,(Y)) = Exp,(Y)
0000Exp,(Y) € F(¢)00000000

F(¢) NV = Exp,({X € T,M [ d¢,(X) = X} NU)

O00000000F(p)0000000oooo
000000 Fo)O pOODOOODODOOOOOO

{X e T,M [ d¢y(X) = X}

0000000000 MOODOOO Flep)OOOODOODOOF(p)D MODODOOODODOO
oooooog
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00 4.23 NO RiemannO0O0 MOOODOOODOD0OOOO0OOOOr>00000
TIN={XeTrN|z €N, |X|<r}

O000Exp(TEN)O MOOODOOOO0Exp: TEN — Exp(T+N)0 0000000
0000O0Exp(TEN)0 NOOOOOOOOO

00 4.24 Riemann D OO OO0OO0OO0 NOODODOOOODOOODODODOOOO r>00
000 Exp(TAN)O NOOOODOOOOOODODODDODOOOOO0OO0O0OD0000000000

00 4.2.5 MO Riemann000000GO MO Le00O000000000 € MO
r>00000 Exp(TH(G2)) 000 GeO00000000000000yeGe0000
S, = Exp,(T;-(Gz) N T,M)0000000 (1)0 (2)000000

(1) g GOOODO S, = gS,.

(2) S;,0 000000000000

00 (1) 0042100

g%::@mgm@@mnMpﬁmM@ﬁm@@mﬂM»

(2) Exp(T+(Gz)) 00D Gz 0000000000000
Exp : TH(Gz) — Exp(T+(Gz))

0000000000000000000000000000 7:7TXGz)— GeO00O0
00000 r: Exp(TH(Ge)) — Ge0000000000yeGe0O00 r(S,) = {y}0O
0000000 42100 Exp(TH(Ge))0 GOOODOO0X € THGz)NT,M)0 g€ G
0ooo

r(gExp, (X)) = r(Expy, (dg(X))) = gy = gr(Exp,(X)).

000 r:Exp(TH(Gr)) — G0 GOOOOOODODOOOOD0O00000r Y(2)=25,0
0000000S8,0-,000000000000

00 4.2.6 00 4250 (2000000000000 0O0OO

00 4.2.7 MO Riemann0O00000GO MO Lie000000000zeMOOO
0000000000 G, 00002000000 Ge00000 2000000000
000000 7T,(G:)00000000000000000000 THGz)0000000
G,0THGz)00D0000000000000
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00 428 ¢o: X =Y UUOOOODOODOODODOOYDOODOODODOODOODO
CO000 ¢ Y(C)0 XODODDODODODOOODOODODOOO00¢0DOODO0ODODO0ODOGOO
OO0 MO LeODOO0OD0OO0OO

GxM—MxDM; (g,z) — (gz,x)

ooboooooooobGo MOOboooooooooobooGE0 MODOO LieO OO
gooo

00 429 GUOUOO MOOO LiedDOD0O0OD00O00zeMOOO0OO0OODODO
Ooo0 G, 0000000000

oo oo
GxM—MxM; (g,x) — (gx,x)

0 40000GxMOODOODODO00O0O p,00000p 0000000zeMOOO
0 {(z,2)})0 MxMOOOOOOOOO0OO0O000000¢ Y (z,2)0 GxMOOODODO
0oO0o00o0ooo

¢~ (v, 2) = {(9,7) € G x M | gv = x}

000 G, =p(¢ ' (z,2)0000G, 0000000000

00 4.210 GOOODOD MOODOOOD LieDODODODOOOGO MOODOODOOD
goo

oo 0o
GxM—MxDM; (g,z) — (9z,x)

O¢o0000MxMUOODODODOOOODOOpO00000p,0000000O0O0OM xM
0000000 00Oo cooooooocoMxMOOOODOoOOoOoOooOOoeOOOOO
O Y (C)OGxMOOODODOOODOOOp, 000000 p(C)O MOODOOODOOO
gooooo

¢ (C)={(g9,2) € G x M | (9x,2) € C} C G x ps(C)

O000Gxp(C)000000000000¢ Y (C)ODODODODOOOOODODOODOOO
GO MOOOOOOOODOO

00 4.2.11 GOOOO MO LeOOOOO0O0O0GO MOOOO0O000000000OO
D000000MO0OO00000000000 K,LOOOO {geG|gKkNL#£0}00
0000000000000

OO0 OMOO0O0O0OO0OO0O0OOOOOOOOOMOOOOODOOOOOOONK,L
D000 LxKOMxMOOOODUOOOOOOODOOODOOO

¢ HLxK) = {(gr)eGxM|greL,ze K}
= {(gx) eGXxM|gregKnL}
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0000000000000 00ooooooooooon
p(o(LxK)={g€G|gKnNL#D

0000000000

00 MOOOO0OO0O0O0O0O0O0000K,LOOOO{geG|gKkNnL#£0}00000
0000000000MxMOOOOOOOOOD CO000000O0CO0000000
000 LO00000000000 KOOOOOK,LO MOO0000000000000
CcLxKOOODOOOOOOOO

pNC)YCop ' (LxK)C{geG|gKNL#0} x K
O0000D0¢ Y(C)0000000000000000GO MOOOOOOO0OO000O0

00 4.212 GO Riemann OO0 MODOOODO LeOJOODOOOOODOOOOODO
peMOOOOUOD GpUOOOOODOODODpOOOOODODOODODODOO

00 r>00000
B, ={X e T,M [[X]<r}

00000000 Exp,: B, — Exp,(B,)0000000000000+>00000
Exp,(B,) NGp = {g € G | g{p} NExp,(B,) # 0}p

DDDDDDDD4.2.11DDExpp(BT)ﬂGpDDDDDDDDDDDDDDEpr(BT)ﬂGp
000000000000 D0pOOO0OOODODO Exp(D,)0ODODODDO D, Cc B,.OOOO
gbbbooogbbbuoddpbbuogoobbodan

Exp,(B,) N Gp — Exp,(D;)
goodooooobbbbpidobbbbbbbboooooog
d(p, Exp,(B,) N Gp — Exp,(D,) = s >0
goododd sgoog EXpP(BS/Q)ﬂGpDDDDDDD
Exp : T+(Gp) — M

gooooo OGT;‘(Gp)DDDDDDDDDDDDDDDDDD O<t<sOOOO

Exp : T;(Gp N Exp,(Bt)) — Exp(T; (Gp N Exp,(B,)))
0000000000 O0o0oooobO Gooooon

Exp : T;~(Gp) — Exp(T;~(Gp))
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0000000
Exp : T;j5(Gp) — Exp(T3j,(Gp))

000000000000 0000000000000000000000000000
00X, € Ty, (Gp) O Exp(Xy) = Exp(X,) 0000000000X,; € T;,(Gp) 0000
dgi' X, € THGp)OO OO

Exp(dg; ' X1) = g7 "Exp(X1) = g7 'Exp(X,) = Exp(dg; ' X2)
oooooooooon
d(p. g1 '(g2p)) < d(p, Exp(dgy ' X1)) + d(Exp(dg; ' X3), g7 ' (g2p)) <t <'s

000 g7 (gp) 0 Exp(B,)NGpOOODODt00D00O0O

-1 -1 —1 . -1

P=01 910 = 91 gD dgy " X1 = dg; " Xo
N000X,=X, 000000000000

Exp : T;»(Gp) — Exp(T;/5(Gp))

00000000000
0000 Exp(T5,(Gp)) 0 GpOOO0000000004250000000000000

00 4.2.13 GU Riemann OO0 MOOOOO LieOD0OOO0O0OD0O2xze MOODOOGe
goboboddtd-00dobbboogooobooon

00 00421200 :000000000 00000000000 42900 G,
000000000000 41.110 (5)000000yeS0000G, =G, 0000
000000000 geG, 0000 ¢gw=y000000S0200000000000
00X eTHG2)0DODOODOO0¢0000 Bxp,(tX) e SO000000 42100

Exp, (tX) = gExp,(tX) = Exp, (tdg.X).

gbb¢:=0000000

d d
X =" Exp (tX)= —| Exp (tdg,X) = dg,X.
ﬁﬁomm ) ﬁhﬂxm(g ) =dg

Obob0000000000000000DO00

0 4.2.14 GO Riemann 000 MOOOOO Le0D0O00000ze MOOOG2ODO
0000000000000000X eTHGr)0000 X(gz) =dg,X (g€ G)00O0
0 X00OOOO0O0OO0OO0OOO Ge0000000 X000000000000000 G
0000000000000
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00 gr=he00000g he=2000 ¢ 'he@, 00000000 421300
d(g7'h),X =X0000dg,X =dh,XO0OOOOODOX O well-defined 0 0000 O
000000

dg,T,(Gz) = T,,(Gx) D 000 000 0dg,TH(Gr) = T4 (Gx) D00 X(gz) = dg, X €
THGe)0ODO0O000D00X0O GeODODOOODOOOO

X,,..., X, 0 THGx)0DO00000000000 ®: Gz x R¥ - TH(Gz) O

Oy, t1,..., 1) = thl(y) + thk(y)

000000000¢é0000000000000D0D0O0DOOODOO TH(Gx)OODOO
goo

4.3 RiemannO O OQOO0OO

00 4.3.1 £FO BO RiemannOOOOOO0O7: £ — BO RiemannOOOOOOO0O
O0o0ddooooxsefrpOdOnOn dwx:TxEﬁTW(I)BDDDDDDde:(kerdwx)L—>
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